Bis Foot Moring

MOVING SERVICES - WPS & CITY / PRICING PAGE - BID #: CR-8147-W4

ITEM	EST. QTY.	DESCRIPTION	UNIT PRICE	TOTAL AMOUNT
1	10 EACH	BASE RATE FOR TRUCK & TWO MOVERS TO ARRIVE ON SITE	\$ <u>185.00</u>	\$ <u>1,850.00</u>
2	100 HOURS	HOURLY RATE FOR TRUCK & TWO MOVER	S \$_180.00	\$ <u>18,000.0</u> 0
3	10 HOURS	ADDITIONAL MOVER - HOURLY RATE	\$ 65.00	\$ 650.00
4	10 HOURS	ADDITIONAL TRUCK – HOURLY RATE	\$_55.00_	\$_550.00
5	250 EACH	SMALL CARDBOARD BOX	<u>\$ 1.75</u>	\$ <u>437.50</u>
5	750 EACH	MEDIUM CARDBOARD BOX	\$ 2.95	\$ <u>2,212.50</u>
7	250 EACH	LARGE CARDBOARD BOX	\$ 3.75	\$ <u>937.50</u>
3	100 EACH	DURABLE PLASTIC CRATES (see specs. for equivalent)	\$4.00 per every 2 wks	\$_400.00

NOTES:

1) The above rates are based on items being moved by hand or using normal moving equipment: two-wheel trucks, dollies, straps, etc. The use of specific rigging and equipment (where required) will be extra, to be negotiated and approved prior to the move.

TOTAL - ALL ITEMS =

- 2) The above rates apply to normal items, i.e. desks, files, chairs, refrigerators, tables, cabinets, etc. Special industrial and commercial equipment will be extra, to be negotiated and approved prior to the move.
- 3) All other materials, supplies, parts, etc. required to be procured by the contractor for the faithful performance of this contract may be a charge to the City at a rate not to exceed 10% over the contractor's net cost.

25,037.50

MOVING SERVICES - WPS & CITY / PRICING PAGE - BID #: CR-8147-W4

ITEM	EST. QTY.	DESCRIPTION	UNIT PRICE	TOTAL AMOUNT
1	10 EACH	BASE RATE FOR TRUCK & TWO MOVERS ARRIVE ON SITE	\$_185 TO	\$_1850
2	100 HOURS	HOURLY RATE FOR TRUCK & TWO MOVERS \$.185.00	\$18,500
3	10 HOURS	ADDITIONAL MOVER - HOURLY RATE	\$_60	\$_600
4	10 HOURS	ADDITIONAL TRUCK – HOURLY RATE	\$_75	\$750
5	250 EACH	SMALL CARDBOARD BOX	\$3	750
6	750 EACH	MEDIUM CARDBOARD BOX	J 4	\$3,000
7	250 EACH	LARGE CARDBOARD BOX	\$ <u>4.75</u>	\$1,18750
8	100 EACH	DURABLE PLASTIC CRATES (see specs. for equivalent)	\$_10	\$ 1.000

TOTAL - ALL ITEMS =

\$27,637.50

NOTES:

- 1) The above rates are based on items being moved by hand or using normal moving equipment: two-wheel trucks, dollies, straps, etc. The use of specific rigging and equipment (where required) will be extra, to be negotiated and approved prior to the move.
- 2) The above rates apply to normal items, i.e. desks, files, chairs, refrigerators, tables, cabinets, etc. Special industrial and commercial equipment will be extra, to be negotiated and approved prior to the move.
- 3) All other materials, supplies, parts, etc. required to be procured by the contractor for the faithful performance of this contract may be a charge to the City at a rate not to exceed 10% over the contractor's net cost.

Sterling Corp.

MOVING SERVICES - WPS & CITY / PRICING PAGE - BID #: CR-8147-W4

ITEM	EST. QTY.	DESCRIPTION	UNIT PRICE	TOTAL AMOUNT
1	10 EACH	BASE RATE FOR TRUCK & TWO MOVERS TO ARRIVE ON SITE	\$ 821,76	\$8,217.60
2	100 HOURS	HOURLY RATE FOR TRUCK & TWO MOVERS	\$ 186.69	\$_18,669.00
3	10 HOURS	ADDITIONAL MOVER - HOURLY RATE	\$72.84	\$728.40
4	10 HOURS	ADDITIONAL TRUCK - HOURLY RATE	\$ <u>113.85</u>	\$ <u>1,138.50</u>
5	250 EACH	SMALL CARDBOARD BOX	<u>\$_5.25</u>	\$_1,312.50
6	750 EACH	MEDIUM CARDBOARD BOX	\$ <u>5.25</u>	\$ 3,937.50
7	250 EACH	LARGE CARDBOARD BOX	\$ <u>5.25</u>	\$1,312.50
8	100 EACH	DURABLE PLASTIC CRATES (see specs. for equivalent)	\$WK	\$

NOTES:

1) The above rates are based on items being moved by hand or using normal moving equipment: two-wheel trucks, dollies, straps, etc. The use of specific rigging and equipment (where required) will be extra, to be negotiated and approved prior to the move.

TOTAL - ALL ITEMS =

- 2) The above rates apply to normal items, i.e. desks, files, chairs, refrigerators, tables, cabinets, etc. Special industrial and commercial equipment will be extra, to be negotiated and approved prior to the move.
- 3) All other materials, supplies, parts, etc. required to be procured by the contractor for the faithful performance of this contract may be a charge to the City at a rate not to exceed 10% over the contractor's net cost.

\$ 35,516.00

John Palmer Movins + Stamage

MOVING SERVICES – WPS & CITY / PRICING PAGE - BID #: CR-8147-W4

ITEM	EST. QTY.	DESCRIPTION	UNIT PRICE	TOTAL AMOUNT
1	10 EACH	BASE RATE FOR TRUCK & TWO MOVERS TO ARRIVE ON SITE	\$ <u>195.00</u>	\$ <u>1,950.0</u> 0
2	100 HOURS	HOURLY RATE FOR TRUCK & TWO MOVER	s \$_190.00	\$ <u>19,000.</u> 00
3	10 HOURS	ADDITIONAL MOVER – HOURLY RATE	\$_75.00_	\$_750.00_
4	10 HOURS	ADDITIONAL TRUCK – HOURLY RATE	\$_65.00	\$ 650.00
5	250 EACH	SMALL CARDBOARD BOX	\$ 2.00	\$ 500.00
6	750 EACH	MEDIUM CARDBOARD BOX	\$ 2.45	\$ <u>1.837.50</u>
7	250 EACH	LARGE CARDBOARD BOX	\$_4.25	\$ 1.062.50
8	100 EACH	DURABLE PLASTIC CRATES (see specs. for equivalent)	4.25 per every 2 wks	\$_425.00
		TOTAL – ALL ITEMS	= \$ 26	,175.00

NOTES:

- 1) The above rates are based on items being moved by hand or using normal moving equipment: two-wheel trucks, dollies, straps, etc. The use of specific rigging and equipment (where required) will be extra, to be negotiated and approved prior to the move.
- 2) The above rates apply to normal items, i.e. desks, files, chairs, refrigerators, tables, cabinets, etc. Special industrial and commercial equipment will be extra, to be negotiated and approved prior to the move.
- 3) All other materials, supplies, parts, etc. required to be procured by the contractor for the faithful performance of this contract may be a charge to the City at a rate not to exceed 10% over the contractor's net cost.

Liberty Morces

MOVING SERVICES - WPS & CITY / PRICING PAGE - BID #: CR-8147-W4

ITEM	EST. QTY.	DESCRIPTION	UNIT PRICE	TOTAL AMOUNT
1	10 EACH	BASE RATE FOR TRUCK & TWO MOVERS TO ARRIVE ON SITE	\$_106.25	<u>\$1062.50</u>
2	100 HOURS	HOURLY RATE FOR TRUCK & TWO MOVERS	S \$ 212.50	\$ 21,250.00
3	10 HOURS	ADDITIONAL MOVER – HOURLY RATE	\$81.25	\$ 812.50
4	10 HOURS	ADDITIONAL TRUCK – HOURLY RATE	\$ <u>50.00</u>	\$ 500.00
5	250 EACH	SMALL CARDBOARD BOX	\$2.25	§ 562.50
6	750 EACH	MEDIUM CARDBOARD BOX	<u>\$</u> 3.75	\$_2812.50
7	250 EACH	LARGE CARDBOARD BOX/ Cardboard Office Tote	\$4.25	<u>\$ 1062.50</u>
8	100 EACH	DURABLE PLASTIC CRATES (see specs. for equivalent) Rental for 1 month	\$8.00	\$800.00

NOTES:

1) The above rates are based on items being moved by hand or using normal moving equipment: two-wheel trucks, dollies, straps, etc. The use of specific rigging and equipment (where required) will be extra, to be negotiated and approved prior to the move.

TOTAL - ALL ITEMS =

- 2) The above rates apply to normal items, i.e. desks, files, chairs, refrigerators, tables, cabinets, etc. Special industrial and commercial equipment will be extra, to be negotiated and approved prior to the move.
- 3) All other materials, supplies, parts, etc. required to be procured by the contractor for the faithful performance of this contract may be a charge to the City at a rate not to exceed 10% over the contractor's net cost.

28.862,50